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	GP5D 46
	Award in Clear Individual Windblown Trees at SCQF level 6


	To attain the qualification candidates must complete 4 units in total. This comprises:
· 4 mandatory units



Please note the table below shows the SSC identification codes listed alongside the corresponding SQA unit codes. It is important that the SQA unit codes are used in all your recording documentation and when your results are communicated to SQA. 
	Mandatory units: Candidates must complete all 4 units from this group

	SQA code
	SSC code
	Title
	SCQF level
	SCQF credits

	HH4N 46
	        -
	Maintain a Chainsaw
	6
	3

	HH4P 46
	        -
	Clear Lying Timber
	6
	3

	HH4R 46
	        -
	Fall Small Trees
	6
	3

	HH4V 46
	        -
	Clear Individual Fallen or Windblown Trees

	6
	3
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